## ANNALES UNIVERSITATIS MARIAE CURIE-SKLODOWSKA

LUBLIN-POLONIA

VOL. XLVII, 12

SECTIO A

1993

## Josip PEČARIĆ (Zagreb)

**Remarks on Biernacki's Generalization of Cebysev's Inequality** 

1. Biernacki's inequality. M. Biernacki [1] has proved the following result:

Theorem A. The inequality

(1) 
$$\int_0^1 p(x) \, dx \int_0^1 p(x) f(x) g(x) \, dx \ge \int_0^1 p(x) f(x) \, dx \int_0^1 p(x) g(x) \, dx$$

holds if p, f, g are integrable functions in (0,1) such that p(x) > 0  $(x \in (0,1)$ , and the functions  $f_1$  and  $g_1$ , given by

(2) 
$$g_1(x) = \frac{\int_0^x p(t)g(t) dt}{\int_0^x p(t) dt} , \quad f_1(x) = \frac{\int_0^x p(t)f(t) dt}{\int_0^x p(t) dt}$$

attain extremal values in (0,1) at a finite number of common points and are also both increasing or both decreasing in (0,1). If one of the functions  $f_1$ ,  $g_1$  is increasing and the other one decreasing, then the inequality in (1) is reversed.

This theorem is an extension of a result from his previous paper [2].

Moreover, some previous related results are due D. N. Labutin [6], [7] (see also [8] or [9, pp. 253-254]).

Recently, R. Johnson [5] has proved:

Theorem B. If

$$(3) \qquad (f_1(x)-f(x))(g_1(x)-g(x))\geq 0$$

holds for  $0 \le x \le 1$ , Cebyšev's inequality

(4) 
$$\int_0^x p(t) dt \int_0^x p(t)f(t)g(t) dt \ge \int_0^x p(t)f(t) dt \int_0^x p(t)g(t) dt$$

holds for  $0 \le x \le 1$ . If the opposite inequality in (3) holds, then the opposite inequality in (4) is true.

Moreover, Theorems A and B are equivalent, i.e. (3) is equivalent to  $f'_1(x) \cdot g'_1(x) \ge 0$ .

A special case of Biernacki's inequality was obtained in [4].

The inequality (1) is valid if  $f_1$  and  $g_1$  are monotonic in the same sense, i.e. if f and g are monotonic in mean in the same sense, while the reverse inequality is valid in (1) if  $f_1$  and  $g_1$  are monotonic in the opposite sense.

This is a consequence of the following identity:

(5) 
$$Z(f,g) = \int_0^1 p(x)(f_1(x) - f(x))(g_1(x) - g(x)) dx$$

where  $f_1, g_1$  are given by (2) and

(6) 
$$Z(f,g) = \int_0^1 p(t)f(t)g(t) dt - \int_0^1 p(t)f(t) dt \int_0^1 p(t)g(t) dt / \int_0^1 p(t) dt$$

Moreover, it is obvious that this identity implies Biernacki's inequality, i.e. Theorem A.

The following discrete analogue of (5) is also given in [4]:

(7) 
$$Z_n(a,b) = \sum_{k=2}^{n} (p_k P_{k-1}/P_k) \widetilde{A}_k \widetilde{B}_k$$

where

$$Z_n(a,b) = \sum_{i=1}^n p_i a_i b_i - \frac{1}{P_n} \sum_{i=1}^n p_i a_i \sum_{i=1}^n p_i b_i , \quad P_k = \sum_{i=1}^k p_i ,$$
$$\widetilde{A}_k = \frac{1}{P_{k-1}} \sum_{i=1}^{k-1} p_i a_i - a_k , \quad \widetilde{B}_k = \frac{1}{P_{k-1}} \sum_{i=1}^{k-1} p_i b_i - b_k .$$

3

A simple consequence of (7) is the following discrete analogue of Theorems A and B:

**Theorem C.** Suppose  $p_k > 0$  for  $k = 1, 2, \ldots, n$ . If

(8) 
$$\widetilde{A}_k \widetilde{B}_k \geq 0$$
,  $k = 2, \ldots, n$ ,

then the Cebysev inequality

is true. If the reverse inequality in (8) holds, then the reverse inequality in (9) is also true.

Now, let

$$M(I) = P_I(A_I(ab; p) - A_I(a; p)A_I(b; p)) ,$$

where  $P_I = \sum_{i \in I} p_i$ ,  $A_I(a; p) = 1/P_I \sum_{i \in I} p_i a_i$ ,  $ab = (a_1 b_1, ...)$ .

The following result is given in [10]:

**Theorem D.** Let I and J denote non-empty disjoint finite sets of distinct positive integers. Suppose that  $a = (a_k)$ ,  $b = (b_k)$  and  $p = (p_k)$  with  $p_k > 0$  and  $k \in I \cup J$  are sequences of real numbers. If the pairs

(10) 
$$(A_{I}(a;p), A_{J}(a;p))$$
 and  $(A_{I}(b;p), A_{J}(b;p))$ 

are similarly ordered, then

(11) 
$$M(I \cup J) \ge M(I) + M(J)$$

If the pairs (10) are oppositely ordered, then the inequality (11) is reversed.

Set  $I = \{1, \ldots, k-1\}$ ,  $J = \{k\}$ . Then the pairs (10) become  $(A_{k-1}(a; p), a_k)$ and  $(A_{k-1}(b; p), b_k)$  where  $A_{k-1} \equiv A_I$  in this case. These pairs are similarly ordered if  $\widetilde{A}_k \widetilde{B}_k \ge 0$ . Therefore, we have the following generalization of Theorem 6 from [10]:

**Theorem 1.** Let p be a positive sequence. If a and b are real sequences such that (8) holds, then

(12) 
$$Z_n(a,b) \ge Z_{n-1}(a,b) \ge \ldots \ge Z_2(a,b) \ge 0$$

If the inequalities (8) are reversed, then the inequalities in (12) are also reversed.

Moreover, the following result was also obtained in [10]:

**Theorem E.** Let I and J denote non-empty disjoint finite sets of distinct positive integers. Suppose that  $a_1 = (a_{lk}), \ldots, a_r = (a_{rk})$   $(k \in I \cup J)$  are sequences of non-negative numbers and  $p = (p_k)$   $(k \in I \cup J)$  are positive sequence. If the pairs

(13) 
$$(A_I(a_m; p), A_J(a_m; p)) \quad (m = 1, \dots, r)$$

are similarly ordered, then

(14) 
$$N(I \cup J) > N(I) + N(J)$$
,

where

$$N(I) = P_I(A_I(a_1 \cdots a_r; p) - A_I(a_1; p) \cdots A_I(a_r; p)) .$$

Set again:  $I = \{1, \ldots, k-1\}$ ,  $J = \{k\}$ , then the pairs  $(A_{k-1}(a_m; p), a_{mk})$   $(m = 1, \ldots, r)$  should be similarly ordered, i.e. we should have either

(15) 
$$A_{k-1}(a_m; p) \le a_{mk} \quad (m = 1, \dots, r)$$

or

(16) 
$$A_{k-1}(a_m; p) \ge a_{mk}$$
  $(m = 1, \dots, r)$ .

(8)

So, we have :

**Theorem 2.** Let p be a positive sequence and let  $a_i$  (i = 1, ..., r) be non-negative sequences such that for every k - 2, ..., n we have either (15), or (16). Then

(17) 
$$Z_n(a_1,\ldots,a_r) \ge Z_{n-1}(a_1,\ldots,a_r) \ge \ldots \ge Z_2(a_1,\ldots,a_r) \ge 0$$
,

where

$$Z_n(a_1,\ldots,a_r) = \sum_{k=1}^n p_k a_{lk} \cdots a_{rk} - \sum_{k=1}^n p_k a_{lk} \cdots \sum_{k=1}^n p_k a_{rk} / \left(\sum_{k=1}^n p_k\right)^{r-1}$$

2. Inequalities for functions with non-decreasing increments. Now we shall give some similar results for functions with non-decreasing increments, i.e. we shall give some extensions of results from [11].

A real-valued function f on an interval  $T \subset \mathbb{R}^r$  is said to have non-decreasing increments if

$$f(a+h) - f(a) \le f(b+h) - f(b) ,$$

whenever  $a \in T$ ,  $b+h \in T$ ,  $0 \le h \in \mathbb{R}^r$ ,  $a \le b$  ( $a \le b$  means  $a_i \le b_i$ , i = 1, ..., r). We write

$$F(I) = P_I f\left(\frac{1}{P_I}\sum_{i\in I} p_i x_i\right) - \sum_{i\in I} p_i f(x_i) ,$$
$$A_I(x;p) = \frac{1}{P_I}\sum_{i\in I} p_i x_i \quad A_n(x;p) = \frac{1}{P_n}\sum_{i=1}^n p_i x_i .$$

The following theorem is a special case of Theorem 4 from [11]:

**Theorem F.** Let  $p = (p_i)_{i \in I \cup J}$  be a positive sequence, where I and J are non-empty sets of positive integers such that  $I \cap J = \emptyset$ ,  $x_i \in T$   $(i \in I \cup J)$ , and let  $f: T \mapsto \mathbb{R}$  be a continuous function with non-decreasing increments. If

(18) 
$$A_I(x;p) \leq A_J(x;p)$$
, or  $A_I(x;p) \geq A_J(x;p)$ ,

then

(19) 
$$F(I \cup J) \le F(I) + F(J) \; .$$

Set again  $I = I_{k-1} = \{1, \dots, k-1\}, J = \{k\}$ . We get

**Theorem 3.** Let  $f: T \mapsto \mathbb{R}$  be a continuous function with non-decreasing increments, and let  $p_i$  (i = 1, ..., n) be positive numbers. If  $x_i \in T$ , i = 1, ..., n and

(20) 
$$A_{k-1}(x;p) \leq x_k$$
, or  $A_{k-1}(x;p) \geq x_k$ ,

for all  $k = 2, \ldots, n$ , then

(21) 
$$F(I_n) \leq F(I_{n-1}) \leq \ldots \leq F(I_2) \leq 0$$

A special case  $F(I_n) \leq 0$  is a further extension of Theorems 1 and 2 from [11]:

**Theorem 4.** Let  $f, x_i$  and  $p_i$ , i = 1, ..., n satisfy the conditions of Theorem 3. Then

(22) 
$$f\left(\frac{1}{P_n}\sum_{i=1}^n p_i x_i\right) \le \frac{1}{P_n}\sum_{i=1}^n p_i f(x_i) \ .$$

**Remark.** The Jensen - Steffensen inequality for functions with non-decreasing increments is given in [3] and [12], while its reversion and majorization theorem are given in [12].

Remark. Functions

$$f(x,y) = xy \ (x,y \in \mathbb{R})$$
 and  $f(x_1,\ldots,x_r) = x_1 \cdots x_r \ (x_1,\ldots,x_r \in \mathbb{R}_+)$ 

have non-decreasing increments, so, Theorem 3 gives Theorems 1 and 2.

3. P-convex functions. Let f be a real-valued function defined on [a, b]. The k - th order divided difference of f at distinct points  $x_0, \ldots, x_k$  in [a, b] may be defined recursively by

$$[x_i] f(x) = f(x_i)$$

and

$$[x_0,\ldots,x_k] f(x) = \frac{[x_1,\ldots,x_k] f(x) - [x_0,\ldots,x_{k-1}] f(x)}{x_k - x_0}$$

If f is a real-valued function of two variables defined on  $[a, b] \times [c, d]$ , we can define the divided difference of order (k, m) by

$$[x_0, \ldots, x_k] [y_0, \ldots, y_m] f(x, y) = [x_0, \ldots, x_k] ([y_0, \ldots, y_m] f(x, y))$$
  
=  $[y_0, \ldots, y_m] ([x_0, \ldots, x_k] f(x, y)) .$ 

We say that f is convex of order (k,m) if

 $[x_0,\ldots,x_k][y_0,\ldots,y_m]f(x,y)\geq 0$ 

for all  $a \leq x_0 < \ldots < x_k \leq b$  and  $c \leq y_0 < \ldots < y_m \leq d$ .

Moreover, a function f is P-convex if it is convex of orders (2,0), (1,1) and (0,2).

For example, the following inequalities are valid for *P*-convex functions [13]:

**Theorem G.** (Majorization theorem). Let  $p_1, \ldots, p_n$ ,  $x_1 \leq \ldots \leq x_n$ ,  $y_1 \leq \ldots \leq y_n$ ,  $u_1 \leq \ldots \leq u_n$  and  $v_1 \leq \ldots \leq v_n$  be real numbers such that  $x_i, u_i \in [a, b]$ and  $y_i, v_i \in [c, d]$  for  $i = 1, \ldots, n$ , and  $x \prec u$ ,  $y \prec v$ , where we write, for example,  $x \prec u$  if

$$\sum_{i=k}^{n} p_{i}x_{i} \leq \sum_{i=k}^{n} p_{i}u_{i} , \ k = 2, \ldots, n , \quad and \quad \sum_{i=1}^{n} p_{i}x_{i} = \sum_{i=1}^{n} p_{i}u_{i} .$$

If f is a P-convex function, then

(23) 
$$\sum_{i=1}^{n} p_i f(x_i, y_i) \le \sum_{i=1}^{n} p_i f(u_i, v_i)$$

**Theorem H.** (Jensen-Steffensen inequality). Let  $a \le x_1 \le \ldots \le x_n \le b$ ,  $c \le y_1 \le \ldots \le y_n \le d$  and  $p_i, \ldots, p_n$  be real numbers such that

(24) 
$$0 \leq P_k \leq P_n \quad (k = 1, ..., n-1), \quad P_n > 0,$$

and let  $f:[a,b] \times [c,d] \mapsto \mathbb{R}$  be a *P*-convex function. Then

(25) 
$$f\left(\frac{1}{P_n}\sum_{i=1}^n p_i x_i , \frac{1}{P_n}\sum_{i=1}^n p_i y_i\right) \le \frac{1}{P_n}\sum_{i=1}^n p_i f(x_i, y_y) .$$

Moreover, similarly to the proof given in [13], we can prove a reverse Jensen-Steffensen inequality, i.e. the following theorem is valid

**Theorem 5.** Let  $a \leq x_1 \leq \ldots \leq x_n \leq b$ ,  $c \leq y_1 \leq \ldots \leq y_n \leq d$  and  $p_1, \ldots, p_n$  be real numbers such that  $P_n > 0$  and either

(26) 
$$0 < P_n \leq P_k$$
  $(k = 1, ..., n-1)$ 

OT

(27) 
$$0 < P_n \le \overline{P}_k \qquad (k = 2, \dots, n)$$

where  $\overline{P}_k = P_n - P_{k-1}$ , (k = 2, ..., n). Further, let  $1/P_n \sum_{i=1}^n p_i x_i \in [a, b]$ ,  $1/P_n \sum_{i=1}^n p_i y_i \in [c, d]$ , and let  $f : [a, b] \times [c, d] \mapsto R$  be P-convex. Then the reverse inequality in (25) is valid.

**Proof.** This is a consequence of Theorem G. Namely, we have to set  $\tilde{x} = (\underline{x}, \ldots, \underline{x})$ ,  $\tilde{y} = (\underline{y}, \ldots, \underline{y})$ ,  $\tilde{u} = x$  and  $\tilde{v} = y$ , where  $\underline{x} = 1/P_n \sum_{i=1}^n p_i x_i$  and  $y = 1/P_n \sum_{i=1}^n p_i y_i$ . If the conditions in our theorem are satisfied, then we have  $\overline{x} \prec \overline{u}$  and  $\overline{y} \prec \overline{v}$ . We shall prove that  $x \prec u$ , i.e.

(28) 
$$\frac{1}{P_n} \sum_{i=k}^n p_i \sum_{m=1}^N p_m(x_m - x_i) \ge 0 \qquad (k = 2, \dots, n)$$

(for k = 1 we have an obvious equality). Since due to [13]:

$$\sum_{i=k}^{n} p_i \sum_{m=1}^{n} p_m(x_m - x_i) = \overline{P}_k \sum_{i=1}^{k-1} P_i(x_i - x_{i+1}) + P_{k-1} \sum_{i=k+1}^{n} \overline{P}_i(x_{i-1} - x_i),$$

the inequality (28) is true.

Now we can start from Theorems H and 5 for n = 2 and, as in [11] and Section 2, we can get that Theorems F, 3 and 4 are also valid in case r = 2, for P-convex functions (instead of functions with non-decreasing increments). In fact, the same can be said for all results from [11].

## REFERENCES

- [1] Biernacki, M., Sur une inegalité entre les intégrales due à Tschebyscheff, Ann. Univ. Mariae Curie-Skłodowska Sect. A 5 (1951), 23-29.
- [2] Biernacki, M., Sur le 2 théorème de la moyenne et sur l'inegalité de Tschebyscheff, Ann. Univ. Mariae Curie-Skłodowska Sect. A 4 (1950), 123-129.
- [3] Brunk, H.D., Integral inequalities for functions with non-decreasing increments, Pacif. J Math. 14 (1964), 783-793.
- [4] Burkill, H. and L. Mirsky, Comment on Chebyshev's inequality, Period. Math. Hungar. 6 (1975), 3-16
- [5] Johnson, R., Chebyshev's inequality for functions whose averages are monotone, J. Math. Anal. Appl. 172 (1993), 221-232.
- [6] Labutin, D.N., On inequalities, Pjatigorsk Sb. Naucn. Trudov Ped.in-ta 1 (1947), 188-196.
- [7] Labutin, D.N., On harmonic mean, Pjatigorsk Sb. Nauen. Trudov 3 (1948), 56-59.
  - [8] Mitrinovic, D.S., Vasic, P.M., History, variations and generalization of the Čebyšev inequality and the question of some proprieties, Univ. Deograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz. (1974), 461-497.
  - [9] Mitrinovic, D.S., J.E. Pecaric and A.M. Fink, Classical and New Inequalities in Analysis, Dordrecht, Boston, London 1993.
- [10] Pecaric, J.E. and P.M. Vasic, Comments on Cebyshev's inequality, Period. Math. Hungar. 13 (1982), 247-251.
- [11] Pecaric, J.E., Generalization of some results of H. Burkill and L. Mirsky and some related results, Period. Math. Hungar. 15 (1984), 241-247.
- [12] Pecarić, J.E., On some inequalities for functions with nondecreasing increments, J. Math. Anal. Appl. 98 (1984), 188-198.
- [13] Pecaric, J.E., Some inequalities for generalized convex functions of several variables, Period Math. Hungar. 22 (1991), 83-90.

Faculty of Textile Technology University of Zagreb Zagreb, Croatia